I TR R B BASER I B TR e ROBE S BRI

B 20114E4H 240 (H) EH 41N CLEFHHES 5 A) ¥ 20114E4H 240 (H) EH: 41 A
14 4,023 ful  EAR 30 TRt E i)
24 3,890 /MR RFR 39 RIS E N BeEEE K BeEEsR GRS
34 3,880 i F1 54 % R ABL B NENG] 19, 666 A - -
44 3,842 KRiEfp —4 53 AiAE SR MEH e 148, 249 A 44. 90% 49. 42%
54 3, 813 IR UL 66 ok 2 o BIEH  EH]
6 4 3,680 H1JIl  #T 30 WHIXHEZ R JhEL HHEF K 335, 182 A (20114E3 H 2 H HiTE)
74 3,628 Il Eiil 40 TTRGER T B
8 Y 3,622 VLR PET 55 4RI S F N
94 3,558 HH il 61 MR pliizE7)

10 34 3,458 PHiH ¢ 45 WIREFERE A8
1134 3,378 Al A 35 JuRPEE B RLE IR
12 34 3,331 (@ Sk 54 WwIRFIRRE A8
13 4 3,318 ¥EJI 5L 65 HEIHSE  mE
14 %4 3,262 fAJR Fod 46 PTASE ELHL
15 4 3,166 [EFH HH 63 WAEAZE ABL
16 34 3,035 A T 50 & B plign
174 2,990 AR TR 69 FFPEFTR EE:7)
18 34 2,945 EH 45 k&R plign
19 34 2,919 JLHE & 40 fkptrtR EE:7)
20 Y4 2,885 miffi 1E 58 ¥ EE:7)
21 Y4 2,854 ZHH B 49 B E EE:7)
22 Y4 2,836 K if 71 fEEER o PR HEL
23 Y4 2,818 g B 68 TNT THE EE:7)
24 4 2,731 BH Hl 65 i EISRE A8
25 4 2,718 Bk 48 MRB B Hot
26 4 2,718 &% #a] 56 FikR%EE EE:7)
27 Y4 2,717 i ® 49 TPTASE HAH
28 ¥4 2,683 #R)7 1E 76 —RIHa R MEH
29 4 2,641 JEH (5K 61 WIREER 7]
30 Y4 2,612 f5 M #lk 62 LT RBEE  EE
314 2,608 & fiF 66 WRELERIF SR EE:7)
32 Y4 2,566 HIJF % 55 W (TErd REL
33 Y4 2,506 [LMH X 66 iR ES S EE:7)
34 %4 2,495 HE  EE 51 WwIREER BT
35 Y4 2,488 1L FlFk 57 EFEIERE e,
36 4 2,478 #h  EA 60 Vv —pkE DL
37 Y4 2,421 #AJF fEFn 58 Ty H& B pliizE7)
38 Y4 2,395 BiE  #E] 56 TP TASE 5
39 Y4 2,276 K Fifd 63 MRl E EE:7)
40 ¥4 2,263 K [fd 45 JEH FEH G pliien
41 4 2,219 &I ®HA 61 WWEHIGHEE A8
42 2,128 & AL 62 HWHIXZEE presd)
43 2,103 Sl E— 59 I K e Ez7)
44 1,966 A KB 35 HRTEHENAR W
45 1,954 R ~FIH 61 BIAERIE  REL
46 1,948 #h1I IEZ# 65 2L EE:7)
47 1,912 Bl |IA 47 EIEBAERE R
48 1,848 ZHk  FEEk 31 LBk R ME
49 1,760 @fE  Foil 65 A& B piiizE7)
50 1,555 KB 58 48 ARDVEIFE
51 1,420 {EH =& 55 it E B #r
52 1,419 AR P& 50 PREEAFEEMRE
53 1,380 BB Tk 50 LRERKE
54 1,234 )1 66 Mo e M
55 946 EK  HERE 46 WiiE TxE  EHr

[REORI] B4, 3 A EEOWFE, B AR, IR - BUFRIONE, HBrRs,
VRO R=RE, A=K, A=0W, k=3E #H=FIk, =187



